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QUESTION NO. 1
1 | The honsontal range and nlixiﬁm" ratige of projectile are re {‘H'“

(AR = N 5 B
[CVR = Ry 5i0'8 L2}
A body s maving with uniform velocity. Its
(A)Specd  (B) Acceleration  (C) Direction of motion  [EBDisplacement

1 | Escape velocity from the sarth surface |5
(A) 4.2 kms™! (B) 7.5 kms=t  {C}9.5 ks ™! (11 Jkr:r,;-’
4 | Which of the following is correct
i{.p’ = Fx W B) V=W xT (C) FI.__I_"F ﬂtp}‘li-m 3
5 | Thainternal anergy of 1 mole of an jdeal gas m‘qﬂ I h
| (A Valuma (B) Pressure [Ejﬁmpnmtuh ‘,.-{IHI #’muntiil
6 | Tha number of geo - stationary satellites to covel the whale Parﬂ'lih: |

(W5 (B2 (@3 (D)7

Ry SN2 0
R= By sindcosd
_changes

Procihs |

| {ARadiabatic (8} Isobaric  (C] Isothormal D) lsocharie
8 | Terminal vielocity Is a valocity |
' [AMonstant maximum (8) Constant minimum [} Vanable |D) Instantancous '
9| Time period of simple pendutlum at the centre of the sarth will be
(A) Zero ) Infinlte  (C)Same as an the sirface of the earth (D) Doubled

10 | Maximum number of beats frequency that con be heard by a human is l

13 | Which of the following

(A)15Hz [8) 20Hr (GROHz  {D)BHz

11 | Stationary waves are set up in an open nri‘_:_.;’n pipe of length 2m. The wavelength of waves
in first mode of vibration is 57 |
galam  (Blim [C)&m (D)3m '

| |ﬁ] Selectlve absorption ."; Reflection at large incidence angle
q Interferance of light. | ﬁ]}_;n'ualinﬂ_hv i molecules.
mand does not occur In sound waves 7
" | [A) Dnffraction * Puh-ﬁ"ﬁj?-. o (C) Interference (D) Rellection
Rl AL radius of & :-phqrn-.a‘_q 1 001 em than percantage uncartalnty in ¢ is
1lm1n,2~u. ") u«i'ﬁ?“‘ Y 0% (D) 0.3, i
1% | iwe sdd the I'II.FI"I'IHHI- Hn‘ .10, 1.273, the roundrd off answer will bo
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| ¥ | Tha emiovirrwains mlmg of uniqui'lnutmtwhnu S e ba per is
e (w2 {u}d-

12 | Light waves cannot be polarized by !

A The magnitude of muipnmatmlmmm Wi BN acting ab right angle to each other is
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| Dnfferentiate hetwoen tandon and ﬂ'numtm CITON.
5 | Whas are Two prncipal cnaracieristicsof an ideal standard ?
B | ¥ mw:f.udaminlmhmﬂmmmsfwﬂmmm
o | Showthat e famoes © Emawnmmm = e it
. ?m-:muﬂumﬂuﬂnﬁmtt

w | Fimd the projectioa of A = 21—8]+ kinthe
‘khhnmmﬂ Siffcoence of two perpesdicular veutors of
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